Further Practices


Further Practice 6.1A
Basic

1. Solve the following simultaneous equations using the elimination method.
(a) a + b = 9




 a – b = 5


(b) 3c + d = 17 
     2c – d = 3


2. Solve the following simultaneous equations using the elimination method.
(a) 5e + 2f = 1



     e + 2f = –3

(b) –3g + 4h = –9 
     –3g + 7h = 0


Intermediate
3. Solve the following simultaneous equations using the elimination method.
(a) 4i + 3j = 22



      i – j = 2

(b) 4k – 3l = 26

       3k – l = 17
4. Solve the following simultaneous equations using the elimination method.

(a) 4m – 10n = 3



     3m – 4n = 4  

(b) 2p + 5q = 27



     –q + 3p = –2
Challenging

5. Solve the following simultaneous equations using the elimination method.
(a) 0.3r + 0.5s – 1.2 = 0


     0.4r + 0.7s = 1.5  

(b) –3 – 3t = –11u



      3u – 
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Further Practice 6.1B
Basic

1. Solve the following simultaneous equations using the substitution method.
(a) v + w = 14  



       w = v + 8

(b) x = 2y – 7 


     x + y = 17

2. Solve the following simultaneous equations using the substitution method.
(a) 7a – b = 21 
     19 = b + 3a

(b) c – 6 = 4d
 c + 2d = 4
Intermediate

3. Solve the following simultaneous equations using the substitution method.
(a) 4e + 2f = –20 



         f = e + 2   

(b) 3g – 2h = –5
 

    h = g – 2  
4. Solve the following simultaneous equations using the substitution method.
(a) 3i + 4j = –2



     4i + j = –7  

(b) 2k – 5l = –115


 6k + l = –105
Challenging

5. Solve the following simultaneous equations using the substitution method.

(a) 0.7m – 0.3n = 3.8

      – 0.2m + 2.3n = 43.2  

(b) 
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Further Practice 6.2
Basic

1. Grandma gave Ahmad and Siti $26. Ahmad received $4 more than Siti.
(a) Let x represent the amount of money Ahmad received and y represent the amount of money Siti received. Form a pair of simultaneous equations.

(b) Solve the pair of simultaneous equations and find the amount received by Ahmad and Siti.
2. Agnes has 24 fewer hairclips than scrunchies. The total number of hairclips and 
    scrunchies that Agnes has is 76.
(a) Let h represent the number of hairclips Agnes has and s represent the number of scrunchies that Agnes has. Form a pair of simultaneous equations.

(a) Find the number of hairclips and the number of scrunchies Agnes has.

Intermediate

3. Adults have 32 teeth and children have 28 teeth. There are 17 people in a room. The total number of teeth of the 17 people in the room is 504. Assuming everyone has perfect teeth, find the number of adults and children in the room.
4. Jamilah is 6 years older than Mary. In 3 years’ time, Jamilah will be 1.5 times as old as Mary. Find their present ages.
Challenging

5. In week 1, Mrs Muthu bought 4500 ml of milk in 250-ml cartons and 1-litre cartons.  In week 2, she bought half the number of 250-ml cartons and twice as many 1-litre cartons of milk. The amount of milk she bought in week 2 is 750 ml more than the  amount she bought in week 1.
(a) Letting a be the number of 250-ml cartons and b be the number of 1-litre cartons bought in week 1, write a pair of linear equations in two unknowns to represent the information provided.

(b) Calculate the amount of milk Mrs Muthu bought in week 3 if she tripled the number of 250-ml cartons and doubled the number of 1-litre cartons she bought in week 2. Give your answer in litres.
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